

TO VALIDATE, GO TO Certificate Number: GI-COO-52727-6706d364a25b6 **VERIFY.FTGS.US** Date: October 09, 2024

Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Type Vessel	Port of Loading LOS ANGELES
Irvine	Destination Country	Destination Port
CA USA	China	TianjinXingang
Consignee	Export Date 2024-10-03	Exporting Carrier N/A
NNER MONGOLIA BEST HOLSTEINS CO., LTD IUTONGTU VILLAGE, SHENGLETOWN IELINGEER COUNTY	Import Permit Number N/A	Bill of Lading / AWB 401410512944
INNER MONGOLIA, 011500 China	Owner or Agent N/A	Forwarding Agent N/A

Buyer (Importer)

INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY **INNER MONGOLIA, 011500** China

Remarks Total: 1558 bales Total: 671.437mt



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Alfalfa Hay	22.426mt	United States
Marks: WFHU5187594 52bales		
Alfalfa Hay	22.707mt	United States
Marks: TRHU8364034 52bales		
Alfalfa Hay	22.716mt	United States
Marks: BSIU8400818 52bales		
Alfalfa Hay	22.607mt	United States
Marks: BSIU8397709 52bales		
Alfalfa Hay	23.151mt	United States
Marks: BSIU8029651 52bales		
Alfalfa Hay	21.863mt	United States
Marks: TRHU5518434 52bales		
Alfalfa Hay	23.151mt	United States
Marks: CAAU5724266 52bales		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- -The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.

 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

 -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold
- harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.



TO VALIDATE, GO TO Certificate Number: GI-COO-52727-6706d364a25b6

VERIFY.FTGS.US Date: October 09, 2024

Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Type Vessel	Port of Loading LOS ANGELES
Irvine CA	Destination Country China	Destination Port TianjinXingang
USA Consignee	Export Date 2024-10-03	Exporting Carrier N/A
NNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY	Import Permit Number N/A	Bill of Lading / AWB 401410512944
INNER MONGOLIA, 011500 China	Owner or Agent N/A	Forwarding Agent N/A

Buyer (Importer)

INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY **INNER MONGOLIA, 011500** China

Remarks Total: 1558 bales Total: 671.437mt



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Alfalfa Hay	22.87mt	United States
Marks: GAOU6310410 52bales		
Alfalfa Hay	22.643mt	United States
Marks: GCXU5336691 51bales		
Alfalfa Hay	22.027mt	United States
Marks: BSIU8397078 52bales		
Alfalfa Hay	22.099mt	United States
Marks: EGSU9451547 52bales		
Alfalfa Hay	22.689mt	United States
Marks: EMCU8888889 52bales		
Alfalfa Hay	22.072mt	United States
Marks: TLLU8906620 52bales		
Alfalfa Hay	22.825mt	United States
Marks: EMCU8906473 52bales		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing
- of any inaccuracy, omission or change in such information, or in the origin of goods.

 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

 -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.



TO VALIDATE, GO TO Certificate Number: GI-COO-52727-6706d364a25b6 **VERIFY.FTGS.US** Date: October 09, 2024

Seller (Exporter) Healthy Green Life Corporation	Transport Type Vessel	Port of Loading LOS ANGELES
3 Corporate Park vine	Destination Country	Destination Port
vine :A ISA	China	TianjinXingang
Consignee	Export Date 2024-10-03	Exporting Carrier N/A
NNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY	Import Permit Number N/A	Bill of Lading / AWB 401410512944
INNER MONGOLIA, 011500 China	Owner or Agent N/A	Forwarding Agent N/A

Buyer (Importer)

INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY **INNER MONGOLIA, 011500** China

Remarks Total: 1558 bales Total: 671.437mt



Description May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
lfalfa Hay	21.745mt	United States
farks: TXGU5771396 52bales		
Ifalfa Hay	22.526mt	United States
farks: TGBU7149080 52bales		
Ifalfa Hay	22.217mt	United States
larks: TGBU7873814 52bales		
lfalfa Hay	22.925mt	United States
farks: TXGU7772257 52bales		
Ifalfa Hay	22.389mt	United States
farks: EISU8315895 52bales		
Ifalfa Hay	22.38mt	United States
larks: TCNU6662442 51bales		
lfalfa Hay	21.591mt	United States
farks: EITU1116410 52bales		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- -The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

 -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.



TO VALIDATE, GO TO Certificate Number: GI-COO-52727-6706d364a25b6 **VERIFY.FTGS.US** Date: October 09, 2024

Seller (Exporter) Healthy Green Life Corporation	Transport Type Vessel	Port of Loading LOS ANGELES
43 Corporate Park Irvine CA USA	Destination Country China	Destination Port TianjinXingang
Consignee NNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY	Export Date 2024-10-03	Exporting Carrier N/A
	Import Permit Number N/A	Bill of Lading / AWB 401410512944
INNER MONGOLIA, 011500 China	Owner or Agent N/A	Forwarding Agent N/A

Buyer (Importer)

INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY **INNER MONGOLIA, 011500** China

Remarks Total: 1558 bales Total: 671.437mt



escription May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
falfa Hay	21.8mt	United States
arks: TGBU6583580 52bales		
falfa Hay	22.272mt	United States
arks: GAOU6402456 52bales		
falfa Hay	22.344mt	United States
arks: EITU1215049 52bales		
falfa Hay	21.999mt	United States
arks: TGBU6997209 52bales		
falfa Hay	22.244mt	United States
arks: EITU1552456 52bales		
falfa Hay	21.936mt	United States
arks: EITU1718969 52bales		
falfa Hay	22.734mt	United States
arks: GAOU7230900 52bales		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- -The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing
- of any inaccuracy, omission or change in such information, or in the origin of goods.

 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

 -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.

TO VALIDATE, GO TO Certificate Number: GI-COO-52727-6706d364a25b6

VERIFY.FTGS.US Date: October 09, 2024

Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Type Vessel	Port of Loading LOS ANGELES
Irvine	Destination Country	Destination Port
CA USA	China	TianjinXingang
Consignee	Export Date 2024-10-03	Exporting Carrier N/A
NNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY	Import Permit Number N/A	Bill of Lading / AWB 401410512944
INNER MONGOLIA, 011500 China	Owner or Agent N/A	Forwarding Agent N/A

Buyer (Importer)

INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY **INNER MONGOLIA, 011500** China

Remarks Total: 1558 bales Total: 671.437mt



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Alfalfa Hay	22.217mt	United States
Marks: TXGU7770721 52bales		
Alfalfa Hay	22.272mt	United States
Marks: BMOU5454179 52bales		
end of products	=====	
		DAXIVA A
	X WWW WARTHER	



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

 -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.

Healthy Green Life Corporation 1152 S Roughcut Dr, Casa Grande, AZ 85194 USA

COMMERCIAL INVOICE

Invoice No.

BH-202409002

Date:

9/24/24

Shipper/Exporter:

Healthy Green Life Corp 1152 S Roughcut Dr Casa Grande, AZ 85194, USA Consignee:

INNER MONGOLIA BEST HOLSTEINS CO.,LTD

HUTONGTU VILLAGE, SHENGLE TOWN, HELINGEER COUNTY, **INNER MONGOLIA**

Vessel: **EVER FAR**

Voyage No.: 1367-022W

Shipping Line: Evergreen

LOS ANGELES, CA Port of Loading:

ETD: 10/3/24

Price Terms:

CIF

Contract No.: BH-HGLC2024-5

Booking No.: 401410512944

Country of Origin: USA

Discharge: TianjinXingang, China

ETA: 11/2/24

Container No.	Seal #	Product	Bales	Net Weight (MT)	Unit Price USD/MT	Amount (USD)
BMOU5454179	A1530143	Alfalfa Supremi	52	22.272	\$390.00	\$8,686.08
BSIU8029651	A1530125	Alfalfa Supremi	52	23.151	\$390.00	\$9,028.89
BSIU8397078	A1530075	Alfalfa Supremi	52	22.027	\$390.00	\$8,590.53
BSIU8397709	A1530126	Alfalfa Supremi	52	22.607	\$390.00	\$8,816.73
BSIU8400818	A1530127	Alfalfa Supremi	52	22.716	\$390.00	\$8,859.24
CAAU5724266	A1530122	Alfalfa Supremi	52	23.151	\$390.00	\$9,028.89
EGSU9451547	A1530074	Alfalfa Supremi	52	22.099	\$390.00	\$8,618.61
EISU8315895	A1530135	Alfalfa Supremi	52	22.389	\$390.00	\$8,731.71
EITU1116410	A1530133	Alfalfa Supremi	52	21.591	\$390.00	\$8,420.49
EITU1215049	A1530087	Alfalfa Supremi	52	22.344	\$390.00	\$8,714.16
EITU1552456	A1530150	Alfalfa Supremi	52	22.244	\$390.00	\$8,675.16
EITU1718969	A1530149	Alfalfa Supremi	52	21.936	\$390.00	\$8,555.04
EMCU8888889	A1530073	Alfalfa Supremi	52	22.689	\$390.00	\$8,848.71
EMCU8906473	A1530071	Alfalfa Supremi	52	22.825	\$390.00	\$8,901.75
GAOU6310410	A1530123	Alfalfa Supremi	52	22.870	\$390.00	\$8,919.30
GAOU6402456	A1530090	Alfalfa Supremi	52	22.272	\$390.00	\$8,686.08
GAOU7230900	A1530147	Alfalfa Supremi	52	22.734	\$390.00	\$8,866.26
GCXU5336691	A1530079	Alfalfa Supremi	51	22.643	\$390.00	\$8,830.77
TCNU6662442	A1530132	Alfalfa Supremi	51	22.380	\$390.00	\$8,728.20
TGBU6583580	A1530131	Alfalfa Supremi	52	21.800	\$390.00	\$8,502.00
TGBU6997209	A1530081	Alfalfa Supremi	52	21.999	\$390.00	\$8,579.61
TGBU7149080	A1530139	Alfalfa Supremi	52	22.526	\$390.00	\$8,785.14
TGBU7873814	A1530137	Alfalfa Supremi	52	22.217	\$390.00	\$8,664.63
TLLU8906620	A1530072	Alfalfa Supremi	52	22.072	\$390.00	\$8,608.08
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	A1530124	Alfalfa Supremi	52	21.863	\$390.00	\$8,526.57
TRHU8364034	A1530128	Affalfa Supremi	52	22.707	\$390.00	\$8,855.73

Total Value:			1,558	671.437		\$261,860.43
WFHU5187594	A1530129	Alfalfa Supremi	52	22.426	\$390.00	\$8,746.14
TXGU7772257	A1530136	Alfalfa Supremi	52	22.925	\$390.00	\$8,940.75
TXGU7770721	A1530148	Alfalfa Supremi	52	22.217	\$390.00	\$8,664.63
TXGU5771396	A1530138	Alfalfa Supremi	52	21.745	\$390.00	\$8,480.55

Commodity	Crude Protein	Moisture	RFV	ASH
Alfalfa Hay(Supreme)	>=22	<=14	>=185	<=12

GREEN COLOR, LITTLE TO NO BLEACH, NO MILDEW, NO DIRT.

PACKING: FIT FOR OCEAN TRANSPORTATION AND NON WOOD PACKAGING, EACH BALE IS APPROX. 420-460KG

By I	Healthy	Green	Lite	Corpo	ration
------	---------	-------	------	-------	--------

AUTHORIZED SIGNATURE

